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In a trial balance, which one of the following items would be correctly shown
as a debit balance?

Bank overdraft
Discount received
Returns inwards
Returns outwards

0O wW>

X" éva 160{0y10, TO10 OO TO TOPOKAT® GTotYElD pmopel opOd va eppavioTtel
WG YPEOOTIKO VITOLOITO;

A Tlopatpapnypa Tpamelog
B  Exmtdoeic AapPoavopeveg
I'  Emotpoeés [ooewv

A Emotpoeég Ayopov

A company wishes to pay the maximum possible ordinary dividend in respect
of a year during which it earned a net profit, after tax, of €26600. The
company has issued 20000 €1 8% preference share and 50000 €1 ordinary
shares. If €5000 is to be transferred to the general reserve, what ordinary
dividends are to be paid, in percentage terms?

A 10%
B 20%
C 40%
D 60%

Mua petoykn etapeio embopel va TANp®GEL TO HEYOADTEPO SLVATO KOVO
UEPIOLLOL GYETIKA LLE TO £TOG KOTA TN OLAPKELD TOL OTOI0V TPOLYLOTOTOINGE
kaBapd k€poog, petd ™ eoporoyia, €26600. H etorpeia £xel exdmdoel 20000
€1 8% mpovopovyuég petoyés ko 50000 €1 cvvnberg petoyés. Av moco
€5000 B mpémer va petapepbel 610 TOKTIKO 0TOOENOTIKO, TO10 KOO HEPIGHLA
B Tpémel va TANPOCEL, G€ TOGOGTO;

A 10%
B 20%
I 40%
A 60%

The rule in Garner VV Murray states that, subject to any agreement to the
contrary, one partner’s deficiency is to be shared by the other partners...

in ratio of their ‘last agreed capitals’
in their profit and loss sharing ratios
in the ratio of their original capital
none of the above

OO wm>



O xavovag ‘Garner V. Murray’ onAavet 6ti, ehdetyet avtifetng cuppoviag, To
EMELL EVOC GUVETOUPOL TTPETEL VAL KOAVQOEL ad TOVG AAAOVS GLVETAIPOLG

pe Béorn v avoroyio TV TEAELTAIOV KEPOAUI®MY TOVG
pe Baon v avaroyio peptopod twv kepdolnUidV

pe Béomn v avoroyio TV apyKdv KEPIAI®OY TOVG
KOVEVO 0O TOL IO TAVE

>-w >

The following information relates to a firm’s trading during the month of June.

Gross Profit for the month €35000
Expenses for the month €18000
Net profit for the month equals 17% of the sales for the month

The frim’s cost of sales for the month of June is:

A €52000
B  €53000
C  €65000
D €100000

Ot TapakdTm TANPOoEopies APOPOHV TV EUTOPIKOTNTO LLOG EMLYEIPNONG KATA
T dudpketa Tov unvog lovviov.

Mkt k€pdog Tov punva €35000
"E&oda Tov pnva €18000
KoBapd képdog Tov pnva Icovton pe 17% tov toincewmy Tov unva

To kdoT0g TOANGE®V NG emyeipnong yia to pnva lovvio gtva:

A €52000
B  €53000
I'  €65000
A €100000

Net Assets are:

Fixed Assets + working Capital — Long term liabilities
Capital + Working Capital — Long term liabilities
Fixed Assets — Working Capital + Long term liabilities
Fixed Assets + Capital + Long term liabilities

OO wW>

Koabap6 Evepynto eivou:

[Tayro Evepyntuco + Kepdiaio Kivnong — MakponpdOecpo [Tadntikod
Kepdahawo + Kepdiaio Kivinong — MakporpdOeopo TTadntikd
[Tayro Evepyntuco — Kepdioro Kivnong + MaxpompdOeopo ITadntiko
[Tayo Evepyntiko + Kepdhaio + Makpompdbeopo Tabntuco
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A machine, which originally cost €1000, is sold for €350. The provision for
depreciation account relevant to this machine shows a balance of €620. this
means that there is:

A A loss on sale of €380
B A profit on sale of €350
C Alossonsale of €30

D A profit on sale of €30

‘Eva pnydvnpa, mov kéctice apykd €1000, movAndnke yuo €350. O
AOYOPLaoUOG amosBEcHEVTA N OVILOTOL TTOV QLPOPA TO UNYAVILLOL QLTO
delyver voroimo €620. Avtd onuaivel 6Tt VLAPYEL:

Znud ond v tdinon €380
Képoog amd v moinon €350
Znud amd v Toinon €30
Képdoc and v ndinon €30

1w >

Profits of a two-person partnership are €32800 before the following are taken
into account:

o Interest on partners’ capital accounts, €1800

o Interest on partners’ drawings, €200

o Salary of one partner, €10000

If remaining profits are shared equally, how much will each partner receive?

A €10600
B  €11400
C €12200
D €16400

Ta KEPON pI0G TPOSOTIKNG £Tapiag dVO TPos®T®VY eivan €32800 wpotov
AneBoHV vTOYN 01 Mo KAT® AoYoPLUGHOL:

o Toxog kepoaraiov €1800

. Toxog amoAnyewv €200

. Mis06g etaipov €10000

Av ta evamopeivavta képon popactovy e&icov moca Ba mépel KaOe pétoyoc;

A €10600
B  €11400
I €12200
A €16400

Sales for the year are €100000. Gross profit margin is 25%. Opening stock is
€10000; Closing stock is €12000. What are purchases for the year?

A €25000
B  €73000
C €77000

D €125000



8. O toMoelg Tov £toug givar €100000. To mepBmpro tov piktov k€PSoVG etvar
25%. To apywd andBepa epmopevpdrov etvor €10000, To teMKo amddepa
gtva €12000. IToeg givar o1 ayopég Tov £ToVg;

A €25000
B  €73000
r  €77000
A €125000
9. The summarized Balance Sheet for A and B in partnership is given.
€ €
Capital Alcs:
Goodwill 12000  Partner A 24000
Net Assets 28800  Partner B 16800
40800 40800
A and B have previously shared profits and losses in the ration of 2:1 but have
now decided to change the ratio to 3:2.
Goodwill is to be revalued and shown in the Balance sheet at €30000.
What is the new balance of A’s Capital a/c?
A €23800
B  €38000
C  €24800
D €36000
9. Atveton tepiAnyn tov Isoroyiopov pog mposmmiknig etarpiog tov A kot B.
€ €
Capital Alcs:
dnun & Iehateio 12000  Eraipog A 24000
KoBapd Evepyntikd 28800  Etaipoc B 16800
40800 40800
O A ko B mponyodueva poipalov ta képon kot tig {nuég pe avaroyia 2:1,
oALG TOpO aTo@AcIcaY Vo 0ALAEOLY TNV avaroyio og 3:2.
H onun ko mehoateio emavektipdror o Oeiyvetar otov Icoroyiopd oe
€30000.
I[Towo Ba eivar o Vo vOAOO ToL Aoyaplacrov keparaiov Tov A;
A €23800
B  €38000
'  €24800
A €36000
10. On 1 October 2010 Jackson’s debtors amounted to €7440. Of this amount

€384 is known to be bad.
In the year to 30 September 2011 he received €61080 from debtors. His
debtors at 30 September 2011 were €8163.



10.

How much were Jackson’s sales for the year ended 30 September 20117

A €60741
B  €61419
C €61803
D €62187

Tnv 1" OktoBpiov 2010 ot ypedotec Tov Jackson avépyovtov og €7440. Amd
70 0G0 aTO €384 Ntav avaidypeot YPEDCTES.

210 éto¢ mov Ayel 30 XemtepPpiov 2011 eoémpate €61080 and ypedoteg. Ot
ypedoteg Tov TNV 30" ZerntepPpiov 2011 Rrav €8163.

[T6ceg v o1 TwAfoelg Tov Jackson yio to étog mov Afjyet v 30"
YentepPpiov 2011;

A €60741
B  €61419
' €61803
A €62187

11.

11.

Goods are transferred from the Manufacturing Account to the Trading
Account at factory cost of production plus a mark-up of 20%.

The transfer prices of the closing stocks of finished goods were as follows:
Year 1 €39600

Year 2 €42000

Year 3 €45600

What was the provision for unrealised Profit charged against the profit for the
year 3?

€400
€600
€720
€1200

OO w>

Ta érowo mpoidovia petagépovtor and to Aoyoaproocud IMopaywyng oto
Aoyapuopd ExpetdAlevong oe tyég epyootactakod KOGTOUG oLV Eva
neplBdplo k€poovg 20%.

Ot Tipég PETOPOPAS TOV TEMKAOV OTOOEUATOV TOV ETOIUOV TPOTOVT®V TAV 0L
edng:

‘Etog 1 €39600
‘Etog 2 €42000
‘Etog 3 €45600

[Tow Mrav n poPreyn vy 10 un mpaypatonomBEy k€pdog pe v omoia
emPapvvOnke 10 kK€PSOG TOV 30V £TOVG;

A €400
B €600
r €720
A €1200




12. A shareholder sold 1000 ordinary shares of €1 for €1500.
What effect will this have on the share Capital of the company?
A It will decrease by €1000
B It will decrease by €1500
C It will increase by €1500
D It will remain unchanged

12.  "Evag pétoyog movAnce 1000 kowég petoyég g €1 yuo €1500.

T emidpaon Ba €yl 1 TPAEN VT TAVE® GTO PETOYIKO KEPAAOLO TNG ETOPIOG;
A ®a peiwbdet kata €1000

B Ba pewwdet katd €1500

I Oa avénbel xotd €1500

A Oa tapapeivel opetdpfinto

13. In the absence of a partnership agreement, which one of the following

contravenes the provisions of the partnership Act 1890?

A No partner is entitled to a salary

B Profits and losses are to be shared in proportion to capital
C Partners are not entitled to receive interest on their capital.
D Interest is not to be charged on Partners’ drawings.

13. 2NV TEPIMTMOOT) TOV OEV GLVTAGGETOL KATAGTOTIKO Y10l TNV {dpLOT LG
TPOGMOTIKNG £TALPLOG, TOL0 OO TO TOPOUKATM EVAVTIOVETAL GTIG TPOVOLEG TOV
Noépov tev mpocomik®v toupldv tov 1890;

A Koavévag cuvétapog dev ducatovton picho

B Ta k€pdn kot o1 {npiég popdlovror Kat’ avaroyia v Ke@oioioy

r Ot ouvétarpot dev dtkaovvTot vo Adfovv TOKo Tavem 6To KEPAANO TOVG
A Agv emPBapbvovtat e TOKO 01 ATOANYELS TOV GUVETAIP®V

14, In a limited company which of the following are shown in the Appropriation

Account?
(1) Debenture interest
(i) Proposed dividend
(ili)  Transfers to reserves
(iv)  Directors’ remuneration
A (i) and (i)
B (ii) and (iii)
C (i) and (iv)
D (ii) and (iv)
14. e (o HeToykn etoupia, oo amd to TopoKdTe epeaviletal oo Aoyaplacud

AwdBeong Kepdmv;



(1) Toéxog oporoylakol doveiov

(i)  Tpotewduevo uépiopa

(ili)  Metagopég ota amobepotikd

(iv)  Apoipn perdv droikntikod cvopfoviiov

A (i) wan (ii)
B (i) xou (iii)
r (i) xan (iv)
A (i) won (iv)

15.  What are the double entry procedures for dealing with a manufacturing profit?
Debit Credit
A: Trading a/c Manufacturing a/c
B: Manufacturing a/c Profit & Loss a/c
C: Manufacturing a/c Trading a/c
D: Profit & Loss a/c Manufacturing a/c
15. [Tow givon 1 duthoypapikn dtadwkacio wov yepileTon to Propunyavikd kEPOOG;
Xpéwon ITictoon
A: A/opdg Expetdilevonc AN/opog Hapoaywyng
B: A/opdg Mapoaywyng A/opog Amtotehecpdtmv
I: A/opdg Hapaywyng A/opog Expetdievong
A: A/opdg AToteAeGHATOV A/opog Mapoaywyng
16. A, Band C were partners, sharing Profits and losses equally.
A retired and B and C continued in Partnership sharing profits and losses
equally. Goodwill was valued at €60.000 but was not shown in the books.
Which entries will record the adjustments for A’s retirement in the books?
Capital Accounts
A B C
€ € €
A: - Credit 10.000 Credit 10.000
B: Credit 20.000 Debit 10.000 Debit 10.000
C: Debit 20.000 Credit 10.000 Credit 10.000
D: - Credit 30.000 Credit 30.000
16. Ot A, B xon I' etvan suvétaipot, popalovtag to kKEPOM kot Tig {nég e&icov.

O A anoywpet omd 10 GuveETUPIGHO Kot Tov cuveyilovv o B ko 0T,

potpalovtog ta KEPON Ko Tic nuiég e€icov. H pnun kon medateio amotipdron
o€ €60.000 kot dev Ba eppoviotel oto Aoyiotikd BiAia.

[Toeg eyypapég TaKTOMOINGMG Yo TNV 0moyY®PNoT ToL A, Tpénet va yivouv

oTa AoYloTIKG P1Aia;




Aoyaproopoi Keporaimv
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A B C

€ € €
- [Tictwon 10.000 [Tioctwon 10.000
[Tictwon 20.000 Xpéwon 10.000 Xpéwon 10.000
Xpéwon 20.000 [Tictwon 10.000 [Tictwon 10.000
- ITictwon 30.000 [Tictwon 30.000

17.

17.

The following is a list of items that may appear in the annual financial
statements of a manufacturing company:

cost of sales

stock of raw materials

creditors

preference share capital

plant and equipment

wages paid

electricity charges unpaid at the balance sheet date
cash

motor vehicles

bank overdraft.

How many current liability items are there included in the list shown above?

COow>

Three items
One item
Two items
Four items

O mapokdTm givar £€vo Katahoyog 6TolyElmV, Tov epEavilovtal OTIg ETNCIEG
OIKOVOUKEG KOTAGTAGELS LOG PLopmyavikng etanpeiog:

KOGTOC TOANOEVTOV EUTOPEVLATOV
GTOK TPMTM®V VADV

TIGTOTESG

TPOVOLLOVYO LETOYIKO KEPAAALO
€YKOTAOTAGELS Kol EE0TAIGUOG
nuepopicHo TAnpwOévta
NAEKTPIKO pELLLO ATANP®TO KATA TNV Nuepopunvio chvtacng tov
Icoloyiopoh

petpnTd

avToKiviTa LETOPOPDV
apoTpafnypo tpdmelog

[T6ca otoryeia PpayvrpdOecpov madntikov cupneptrapnpdvoviol GTov mo
TOvVO KATAAOYO;

W

Tpia ctoryeia

‘Eva otoyyeio

Avo ctotyeia
Téooepa oToryeio




18.

18.

Which of the following events results in an increase in working capital?

The transfer of raw materials into production.

The acquisition of raw materials on credit.

The recovery of bad debts written-off.

The sale of finished goods to customers on credit terms.

o0Ow>

[To1o amd o TapaKAT® YEYOVOTO GUVETAYETAL AVENGN TOL KEPAANIOV
kivnong;

A H petapopd mpdTmV VAGV TNV TOpaymyn.

B H ayopd mpdTmv vA®V pe Tiotwon).

I H elonpaén doypapelo®v amoitnoemy.

A H ndAnon étolmv mpoidvimv o€ TEAATES e TIGTOON.

19.

19.

The plant and machinery account (at cost) of a business for the year ended 31
December 2010 was as follows:

Plant and Machinery - cost

2010 € 2010 €

1 Jan. Balance 240.000 | 31 March Transfer disposal a/c 60.000

30 June Cash-purchase of plant 160.000 | 31 Dec. Balance 340.000
400.000 400.000

The company’s policy is to charge depreciation at 20% per year on a straight
line basis, with proportionate depreciation in the years of purchase and
disposal.

What should be the depreciation charge for the year ended 31 December
2010?

€68.000
€64.000
€61.000
€55.000

o0Ow>

O Loyapraoudg «Eykotaoctdostg kot pmyovinpatoy (o€ KOGTOG) Log
emyeipnong ywo to £€toc wov Anyet 31 AekepPpiov 2010 €yer og eéng:

Eykatactdosig kou Mnyoaviuota (k66Toc)

2010 € 2010 €

1 Iav. Yroiowmo 240.000 | 31 Mapt. Metog. oto Moud Awébeong  60.000

30 Iovv. Metpntd Ayopd Eykar. 160.000 | 31Aek. Yrolouro 340.000
400.000 400.000

H molrtikn g etanpiog elvan va emPapivel andsPeon 20% emocing pe v
evbeia pébodog, kot avaroyia amdsPeon yio Ta £Tn oyopds kot d1abeong
(ndANONG).

[To16 Ba eivon to oo ™G amdsPeonc mov Ba emiPapvvOet To £T10¢ TOL Arjyel
31 Aexepfpiov 2010;



A €68.000
B €64.000
r €61.000
A €55.000

20.  The net profits and losses of a private business for the last four years were as
follows:
YEARS €
2007 (10.000) Loss
2008 10.000 Profit
2009 20.000 >>
2010 40.000 >>
You are asked to calculate the Goodwill of the business, taking into
consideration that it is valued at two (2) years’ purchase of the average results
of the last four years.
The Goodwill of the private business is:
A €30.000
B €15.000
C €20.000
D €40.000
20. Ta kaBapd képdN kot {nuiéc pag WIOTIKNG emyeipnong v To TeAevTain
téooepa (4) xpovia elyav wg axorovdwg:
ETH €
2007 (10.000) Znud
2008 10.000 Képdog
2009 20.000 >>
2010 40.000 >>
Znteiton vo vmoloyicete ) OMun ko [edarteio g emyeipnong, apov AdPete
vdyMm 6Tl VTN 100VTAL LE TNV OYOPA TOL HEGOL OPOL TMV OMOTEAEGUATOV
TV 4 tehevtainv 1oV, Yo 000 (2) €.
H O1pn kot Iehateio g 1d1oTikng emtyeipnong stvat:
A €30.000
B €15.000
r €20.000
A €40.000
21. Andrew with Capital €30.000 and Michael with Capital €20.000 are in

partnership sharing profit and losses in the proportion of their Capitals. They
decided to revalue their assets as follows: Land and Building from €100.000
to (€150.000), Machinery from €60.000 to (€50.000), Office Furniture from
€10.000 to (€8.000), Stock from €40.000 to (€47.000).

The total profit or loss, of the partnership, from the above revaluation is equal
to amount:



A €45.000 profit
B €45.000 loss
C €57.000 profit
D None of the above
21. O Andrew pe Kepdroto €30.000 ko o Michael pe Kepdhrowo €20.000 ivar
cuvétalpol Kot popdlovtol ta KEPON O AVOAOYiD TOV KEQOAOI®V TOVG.
ATOQAcIGOV VO EMOVEKTIUNCOLY  TO. TEPLOVOIOKE TOVG OTOWYElM ®G
akoAoV0mg: Owoneda kot Ktipra and €100.000 o (€150.000), Mnyoavipato
and  €60.000 oe (€50.000), 'EmumAa I'pageiov and €10.000 oe (€8.000),
Epmnopedparta and €40.000 oe (€47.000).
To ocvvolkd KEPOOg N CNId, TG TPOCWOTIKNG ETOIPEING, QIO TNV O TOVE®
EMAVEKTIUN O™ 100VTOL LE TO TOGO:
A €45.000 xépdog
B €45.000 {nuid
r €57.000 xépdoc
A Kavéva and ta mo mave
22.  Which of the following does not appear in a Manufacturing account?
A Cost of Raw Material used
B Cost of Goods Sold
C Prime Cost
D Cost of Production
22. [Towo amd ta akdAovBa dev mapovcidletor 610 Aoyaplacpd Brounyoavikng
EKUETAAAELONC;
A Kéotog Ilpataov Yrov
B Koéotoc [Toincemv
r Apycd ko6otog [paymyng
A Koéotog Iapaywyng
23. George is going to buy a business which the value of assets and liabilities are as

follows:

Prices at Book Value Prices as Revalued
€ €

Buildings 200.000 Buildings 300.000
Furniture 40.000 Furniture 30.000
Motor Cars 80.000 Motor Cars 60.000
Stock 30.000 Stock 36.000
Debtors 50.000 Debtors 50.000
Creditors 40.000 Creditors 40.000

Provision for Bad Debts 2.000

If the Purchase Price is €454.000, which of the following amounts represent

the Goodwill?



A €94.000
B €20.000
C €14.000
D None of the above amounts
23 O TNopyog mpdkelton va ayopdoel pav emyeipnon g omoiog 1 alia Tov
TEPLOVGLOKAOV GTOLYEIMV KO LTTOYPEMCEWMV EXOVV MG EENG:
A&ia 6nw¢ oto AoyloTiKa Enavextiunuévn aéia
BiBria
€
Kripwa 200.000 Kripwo
‘Emumha 40.000 ‘Emutia
Avtoxivnta 80.000 Avtoxivnta
Eumopevpota 30.000 Eumopeopata
XpedoTeg 50.000 Xpedoteg
[Totmtég 40.000 [MotoTég
[Ip6Preyn yio Amwreteg and
XpedoTeg
Av n yn E&ayopds g emyeipnong eivar €454.000, moo and ta mopakdto
1ol avtirpocmnrevet T ONun kot [ehateio ™ emyyeipnong;.
A €94.000
B €20.000
r €14.000
A Kavéva and ta mo nive mocd
24.  The following information refers to the business of A. Andreou for the
accounting year ended the 31.12.2009.
Debtors balance 1.1.2009 10.000
Cash Sales 50.000
Discounts Allowed 1.000
Cash received from Debtors 80.000
Bad Debts 2.000
Bad Debts Recovered 1.000
Bills Receivable 4.000
Return Inwards 3.000
Debtors Balance 31.12.2009 12.000
Which one of the following amounts represent the Credit Sales of the year
2009
A €142.000
B € 50.000
C € 92.000
D € 80.000
24. Ot mo xdte® mAnpoopieg apopobv v emyeipnon tov A. Avopéov yio

Aoyioticn epiodo mov €Anée v 31 Aekepppiov 2009.

€

300.000
30.000
60.000
36.000
50.000
40.000
2.000



€

Yroérowmo Xpewotmv 1.1.2009 10.000
[MoAoeic toig Metpntoic 50.000
Exntdoegig Xopryovpeveg 1.000
Ewonpagelg amd Xpemoteg 80.000
Andreleg amd XpemoTeg 2.000
Elonpaén Awypageicov Artoitioewv 1.000
I'pappdtio Etonpoktéa 4.000
Emotpopic [ToAncemv 3.000
Ynorowmo Xpewotdv 31.12.2009 12.000

[Too and to Tapokdtm mocd aviimpocsmnevel Tig [loinoelg pe mictwon;

A €142.000
B € 50.000
I € 92.000
A € 80.000

You are given the following accounts concerning a Public Limited Company.

€
Authorised Share Capital 500.000
Issued Share Capital 300.000
Reserves and Surpluses 50.000
Working Capital 20.000

Which of the following amounts represent the Fixed Assets of the company?

A €370.000
B €530.000
C €280.000
D €330.000

Aidovtal ta o KdTe ototyeio mov agopovv pa Anpodcia Metoyikn Etapeio
[Tepropropévng EvBovng.

€
Eyxexpyrévo Metoyiko Kepdraio 500.000
Ex600év Metoykd Kepdhato 300.000
AmobBgpoticd ko [Tieovaopota 50.000
Kepdraro Kivnong 20.000

[Towo ond 10 mapokdto mocd aviimpoownevel to Ildyo Evepyntikd 1ng
emyeipnong;

A €370.000
B €530.000
r €280.000
A €330.000

GOOD LUCK - KAAH EIITYXIA



